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(Continuous Probability Distributions)
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X~Normal  (p,02)

Z~Normal(0,1)
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Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.50000 0.50399 0.50798 051197  0.51595  0.51994  0.52392 0.52790 0.53188 0.53586
0.1 0.53983 0.54380 0.54776  0.55172  0.55567 0.55962  0.56356| 0.56749 0.57142 0.57535
0.2 0.57926  0.58317 0.58706 0.59095 0.59483 0.59871 0.602571 0.60642 061026 0.61409
0.3 0.61791 0.62172 0.62552 062930 063307 0.63683 0.64431 0.64803 0.65173
0.4 0.65542 065910 U662706 0.66640 0.67003 Ub7T38T 0.6 0.68082 0.68439 0.68793
0.5 0.69146 0.69497 0.69847 0.70194 0.70540 0.70884 0.71226 0.71566 0.71904 0.72240
0.6 0.72575  0.72907 0.73237 0.73565 0.73891 0.74215 0.74537 0.74857 0.75175 0.75490
0.7 0.75804 0.76115 0.76424 0.76730 0.77035 0.77337 0.77637 0.77935 0.78230 0.78524
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AL e LY as ol X:N(65, 36) oS 13) : JLlie
P(x>55),P(x<68),P(50 < x < 70), P(x <57)
' =
X—u 55-65
P(x>55)=P(—# > )= P(z > -1.66)
o 6
P(z>-1.66) = P(z <1.66) =0.9515
WOV
P(Z>-2)=P(Z<2) 0 piiiud diag

X—u _68-65

P(x<68)=P( ~ 5 )= P(2<0.5) %
/

P(z <0.5) = 0.69146




.
." | 8 yok ‘M"Y‘"L\J'"“." |
829 0] ea0eeeeess0000000000000000000000000000000000000000000000000000000000000000000000000000000 ) [t} .7%44
* o)
-

50-65 x-u 70-65

< < )

6 c 6 [

P(50<x<70)=P(-2.5<2<0.83) -
P(-2.5<2<0.83)=P(z2<0.83)-P(z<-2.5)

P(-2.5<2<0.83)=P(z2<0.83)-[1-P(z<2.5)

P(-2.5<2<0.83)=0.79673—-[1-0.99379] //
v

P(-2.5<2<0.83)=0.79673-0.00621 = 0.79052 3T NSEX

P(50 < x<70)=P(

P(Z<2)=1-P(Z<17) :¢f puidiud ding

P(x<57) = P(z<-1.33)=1- P(z <1.33)
P(z <-1.33) =1-0.90824 = 0.09176
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